Review and EQAO Practice for Chapter 3 — Polynomials

2017 2018

Bl Which s a simg form of this Bl A rectangle is divided into 5 equal sections as

expression? .
P pictured below.
Xt
xt T+
a i T
® Lo = - 3x
- | I I I I
d x P 2bx ¥
Which of the following is a simplified form of Which of the following represents the area of

e H_ 6y one section?
~2m + 3) — (5m — 6)?

a 3m—3 a 8x
b 3m+ 0 b 8x?
c -Tm—3 C 15x

@ -Tm+9 @ 1522

zo l A ball is dropped from a height of 25 m. The
ball’s height, A, in metres, after n bounces is E

represented by the equation below The table below contains five expressions.

H=35(%}" PXPXpXpXpXp
) PP X p?Xp?
What is the height of the ball after 4 bounces?
p? X p?
5oy
16 p°
25 a
b S m P
e B How many of these expressions are
equivalent to (p?)3?
25
a3 a 1
b 2
Which of the following is equivalent to ©) 3
3(5x-1)-2(3x + 5)? d 4

(@) ox-13

b & +4
¢ 2lx-13
d 2lx+4
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A rectangle is shown below with algebraic
expressions for its length and width in
centimetres.

: 3x =|

xX+5

X

Which expression represents the area of the

rectangle in em??
a 4x+5
b 8x+ 10
c 3+5

(@) 32 + 15x

El What is the solution to the equation below?

3x—4=20
a x=12
b x=16
c x=24

S
"
Il
7=
o

2014

Bl What goes in the [] to complete
the equation below?

(&) ([]) = 24x"
@ 3x°

b 3y
c 16x°
d 16x!

What 1s the value of x in the equation
—4(2x — 1) =367

_ 35

b 3

37

C —3
d —s

it What is the value of P in the equation below
when r=—77

P=4-12r
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What is the value of 5x°)* when x=2 and Which of the following is a simplified form

y=47 of the expression 4(5x — 8) — 3(2x — 7)?
a 240 @) 14— 11
260 — 11
¢ 480 e
d 26x— 53
@ 640
I The square and the triangle below have the
H What exponent goes in the box to make SAMIE area.
the following equation true?
-L1y6
xUx6 s
JE:E : 18 cm
_ A =5 _
a 9
@ 8 12 ecm 8m cm
c 4
What 15 the value of n?
d 3
a 1
® 2
c 8

d 16
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El Walking Around the Park

A park in the shape of a rectangle is pictured with algebraic expressions representing its length and
width, in metres.

ax

Width - Park 4+ 3x+7
3 x+7
u H
Length S X
The perimeter of the park, P can be defermined using the equation
P=2+2w.

Determine an equation to represent the perimeter of the park using the given sides.

po S t 3x+T + Sx + dx]  (Add up all U sides)

The perimeter of the park is @
Determipe the lenoth of thePark. Show your work.

P=Sx+5x+3Ix+ax+1+]

P=16x+ 14 length = g? )
) =9 (2!
'ng)t- IG)‘*’JI"‘ Z105m
3S50-1H = ‘ZX e QUJ%L 15 1p6m
336= lox
33,6 = ik
6 M

‘ZI:X|
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El Floored Areas

The diagram of the floor shown below has algebraic expressions for the lengths of its sides, in metres.

dy -3 ——

b L] T
SPH" 'Hr\e. T
ai aafan\ i i ]
'tn‘r‘o +wo 7 I
P'QCQS * [ lr

p——— 3xr — 3 ———

Determine an unsimplified expression for the total area of the floor, 4, in m*.

- Ux-3)sx) + (3x-3)(2x)

Simplify your expression fully. Show vour work.

A= (Ux-3)(sx) + (3x-3)(2x)
A= 20x%-15x & bx?- bX

A= zox*+bx*-15x -6 x




